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<cstdio>
std;

int value[110];
bool dp[116][10@1@];
int main() {
int N, W; scanf("%d%d”, &N, &W);
(int i=1; i<=N; i++) {
scanf("#%d", &value[il);

dpLe]re]

(int i=1

(int j=0;
dpli1[3] = dp[il[3] dp[i-11031;

(j - value[i] ) {
dp[i1[3] = dp[i1Li] dpLi-11[j - value[il];

H

}
printf("%s\n", dp[N][W] true "Yes" "No");
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int cap[110], value[110];
int dp[1101[10010];
int main() {
int N, C; scanf("%d%d”, &N, 8C);
(int i=1; i<=N; i++) {
scanf("%d%d", &value[i], &cap[il);

memset (dp, N

dpLe][e] = o;

(int i=1; i<=N; i++) {
(int j=0; j<=C; j+*) {

dp[i1[j] = max(dp[il[j]1, dpli-11[31);

dpli-11[j - cap[il]
max(dp[i1[3], dp[i-11(j

(3 - capli]

n
dp[il[j] cap[il]

int ans = 0;
(int i-0; i<=C; i
ans = max(ans, dp[NI[il);

n", ans);

3
printf ("%
0;
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